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Question Number : 1 Question Id : 876 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

To switch between two applications. we must press
Options:
| Alt+Tab

5> R Shift+Tab



2 % Ctrl+-Shift
4 % Alt+Shift

Question Number : 1 Question Id : 876 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

ATeE s fTg TS saE FRTegd | gaEr T9fEe |
Options:

1« Alt+Tab

> # Shift+Tab

= # Ctrl+Shift

4 % Alt+Shift

Question Number : 2 Question Id : 877 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Ctrl+X is used to
Options:
, % Copy Selected Items

> % Paste Selected Items

= « Cut Selected Items

4 % Select all contents of the page

Question Number : 2 Question Id : 877 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Ctrl+X T 39T & TorT fFam Jmar ¢ |
Options:

| % TOAS AT F FUT FA
. » TAIT HSEH FT 9T FIA
5 v TAAT HESH F Fe F
4w 9T & FefT W FT TIS FA

Question Number : 3 Question Id : 878 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

In Excel. the intersection of a row and a column is called

Options:
, = Square
5 % Cubicle

4 % Worksheet



Question Number : 3 Question Id : 878 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

TFET H, U (row) 3T FAH (column) F AT FT_ FEa ¥ |

Options:

Question Number : 4 Question Id : 879 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

Ctrl+Alt+Del is used to
Options:
G Reboot the computer

o % Bring up Windows Start Up Menu

3 % Create a screen shot

4 % Rename selected icon

Question Number : 4 Question Id : 879 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Ctri+Alt+Del T 33T &g fmar =mar 2
Options:
| PR g F=

- i fFers sy A9 e
.« THIF oI §a
, & "o T 71T ATEFA FT I ATATRIOT FE

Question Number : 5 Question Id : 880 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

We press Alt+F4 to
Options:
| % create a new folder

> % create a new word document

z close the current OpPe1l prograill

, % refresh the page

Question Number : 5 Question Id : 880 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0



T Alt+F4 * B e &

Options:
| % o7 Blesl T4

, x UF FAT TE SEPE T
. o FTHEEARE el ST F aE FA
4 % 9o F TR &

Question Number : 6 Question Id : 881 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

In a word document, to convert the highlighted section in to Italic pattern, we
press

Options:

1« CirHI
- % Cirl+]
5 % Cul+K
4 % Cirl+L

Question Number : 6 Question Id : 881 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

T TE e #, g R a i e o g gm ae ¢ |

Options:
. v Ctrl+l

o % Ctri+J
. x Ctrl+K
4 ® Ctrl+L

Question Number : 7 Question Id : 882 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

In MS-Excel, there is immediately below the title bar.

Options:
1 ® Text area

- % Menu Bar
= % Standard Tool Bar
4+« Scroll Bar

For the above question, User had specified 'full' during keys upload.

Question Number : 7 Question Id : 882 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

MS-Tade H, Z1Sed 917 & == grar & |



Options:

1 B é.ﬂ-'&‘.'&-ﬁl’
o> B ﬁﬂ‘;m

. x TCUSE TA AR

L v TP AT

For the above question, User had specified 'full' during keys upload.

Question Number : 8 Question Id : 883 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

System software
Options:
1+ controls internal computer operations

5 % controls external computer operations

z # converts only English to machine language

4 % is soft part of the system

Question Number : 8 Question Id : 883 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

T+ s gveEm

Options:

1_gmﬂﬁ$m§mﬁﬁ$ﬂaﬂmﬁ'
=i gl FgeT Iferansit FT FUgA AT &
L« TOE HIST F FAAAT AT F FETAT B

, » THTTH FT UF FEA GEar §

Question Number : 9 Question Id : 884 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.0

Under which menu is Print Preview found in Word?
Options:
1 « File

» % Tools
= ® View
4 ® Edit

Question Number : 9 Question Id : 884 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.0

T #, fT dreg foFw A9 & 3tegT 9/ 14T 82

Options:



1 o Digel

Q_WW

SWEE!\

4%3.':'-%3—

Question Number : 10 Question Id : 885 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

F2 key is used to change the of file folder.
Options:
; % Colour
> ® Size
3 « Name

4 % Style

Question Number : 10 Question Id : 885 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

FIST BIesT &1 Fgaolel & T F2 &7 &1 w3 fmar e # |
Options:

;% T

o ® HIgaT

3 o °lIH

4 w TS

Question Number : 11 Question Id : 886 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Double clicking a word with a mouse
Options:
 u deletes the word

5 o selects the complete word

2 % creates space between characters

4 % changes the case of characters

Question Number : 11 Question Id : 886 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

TFdT oTeg 97 AT3H H 39 oo &9 °©

Options:

| = e fEole @ smar @
. , TFIUT 2 ol @Y AT §




. x HEWT & &9 H TIW AT AT E
, « T F FH AT g ¢

Question Number : 12 Question Id : 887 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Pressing Shift+Del
Options:
| % takes the system to safe boot mode

> % deletes the file and throws it in recycle bin

o  deletes the file without throwing it into recycle bin

4 % drops down the window control menu

Question Number : 12 Question Id : 887 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Shift+Del g1

Options:

| x HTEH F A T AT WA AT E

. » FTES & ¥l #F fuwed O9 & $F a1 §
. v BEd & o faes fa A s R s ear &
, o PSS Fvg g w fwr g ¥

Question Number : 13 Question Id : 888 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Graphic output can be produced with the help of a
Options:

i plotter

o % printer

- % Speakers

4 % monitor

Question Number : 13 Question Id : 888 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ﬁmﬁﬁﬁmﬁmﬁmamcg:: IcqTed Far =T §&aT 872

Options:

o LR
z % TR




4 ® T ER

Question Number : 14 Question Id : 889 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

For opening an existing document. press

Options:

4 % Ctl+Double Click

Question Number : 14 Question Id : 889 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

frd F97= sTegde 1 @o= ¥ BT TETAT TR |

Options:
. % Ctrl+l

. » Ctrl+O
- = Ctri+Alt
4 » Ctri+3ser Foe

Question Number : 15 Question Id : 890 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Drop Cap option 1s found in
Options:
1 % Insert

5  Format
4 % Tools

Question Number : 15 Question Id : 890 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

T F e fFE H urar S 2

Options:

1 % e

Question Number : 16 Question Id : 891 Question Type: MCQ Option Shuffling : No



Correct : 1.0 Wrong: 0.0

Which of the following packages i1s used for composition in printing press?
Options:

1 ® Lotus

- % dBase

5 o Page Maker

4 R Word Perfect

Question Number : 16 Question Id : 891 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A J Fiaar 433 e 9w & FEarshra & gaer &Far Jar 272

Options:

| % A"
>« B A

5 9 JAHRT
4 ® IE ThFe

Question Number : 17 Question Id : 892 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

1s an external index of various slides presentation.

Options:

| % Notes part
5 Slide part
5 » Outline part

4 % Sorter view

Question Number : 17 Question Id : 892 Question Type: MCQ Option Shuffling : No

Correct : 1.0 Wrong: 0.0
Iffe rorse 95 &1 Sl 299 2 |

Options:

1 ® mq-lé-

> v TATSE 91T
L x HT3CATSA I
s T

Question Number : 18 Question Id : 893 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A Taskbar is usually located

Options:



| « at the bottom of the screen

5 ® at the top of the screen

= % in the middle of the screen
4 % On the left side of the screen

Question Number : 18 Question Id : 893 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

SIEHAY HTAETT: @l 91T AT 272

Options:

v BRI 7 wed A
, » B F FEH FW
 « TP & drar d=
, » TR & b AR

Question Number : 19 Question Id : 894 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

To double underline the text 1s used.

Options:
1 & Ctrl+Shift+D

o B Ctrl+D
4, % Alt+D

Question Number : 19 Question Id : 894 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

TFES FT 3T X [@IRT F9 & o FT 9O AT JAaT E

Options:

i « Ctrl+Shift+D
> # Ctrl+D

= % Shift+D

4 % Alt+D

Question Number : 20 Question Id : 895 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Using the chart wizard. one can quickly and easily turn the

Options:
1 % data into charts and vice-versa

- « data into charts



z % information to data

4 % charts into most advanced charts

Question Number : 20 Question Id : 895 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

e fasme &1 9aeT Fa ge Fig o Ao o Sedr @ 2T

Tar § |
Options:

| % STET & A A UF SHHAT 3oar &
o BTET & I A

- % SIBIHAA HI ST H

4 % TIE F TEAES I€ H

Question Number : 21 Question Id : 896 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Which of the following commands is used to print the document from the
keyboard?

Options:
| « Cul+P

z % Shift+P
4 % Tab+P

Question Number : 21 Question Id : 896 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

T 7 @ FEE fr Siadr #71 sFgHe F BT F 9 & FHE A 22

Options:

| » Ctrl+P
5w Alt+P

. » Shift+P
, » Tab+P

Question Number : 22 Question Id : 897 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

In order to tell Excel that we are entering a formula in a cell. the user must begin with
an operator. such as

Options:

1.%$



(2

Question Number : 22 Question Id : 897 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

TFAT F T T4 F Tov F g7 9 H TF G 39T W E g, T
FTF e ¥ fome Fr g s T |

Options:

1_%3$
2_&3@
W=
4 % H#

Question Number : 23 Question Id : 898 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

In order to include picture. data type should be
Options:
, & OLE

5 % Hyperlink

3 % Yes/No

4 % Picture

Question Number : 23 Question Id : 898 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Ry &1 geafeg == F v, swer ey ZIAT TR |

Options:

1 « OLE
, % BISURIeIR
5% ETUHET
i S|

Question Number : 24 Question Id : 899 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Recycle Bin provides the advantage of
Options:

s restoring deleted files

5 % recycling of dustbin



2 % holding the deleted files permanently

4% saving the system from the attack of viruses

Question Number : 24 Question Id : 899 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

fasa R T emEr ag &

Options:

1_Jgﬁ%?ﬁf£r§émsﬂfﬁﬁm?mm%“

, x ST HT GATTHET
Sw%ﬁtﬁr?maﬁmnéﬁvaﬂﬁm

, % TUECH H IEH F FHA " ==

Question Number : 25 Question Id : 900 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What menu 1s selected to cut. copy. and paste?
Options:

> % Tools

5 % Special

4 « Edit

Question Number : 25 Question Id : 900 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Fe, FAT HR I T F BT Fiawr A7 #7177 Ay F@r 22

Options:

% PR
> % KOH
2 ® e
4 v T

Question Number : 26 Question Id : 901 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following is a browser?
Options:

1 % Windows XP

> % Ctt

= u Power Cord



4v IEB

Question Number : 26 Question Id : 901 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

T 7 ¥ Filawr s 39 F139K 27
Options:

.« f¥ET XP

o % C++

z R tlumm

v IE 8

Question Number : 27 Question Id : 902 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A mobile SMS cannot contain
Options:
, = Alphabets

5 % Numbers

- w» Alphanumeric Characters

4 « Video

Question Number : 27 Question Id : 902 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Te #EEd SMS H Fer & Terdr |

Options:
1 B H&L

2_%3‘]?‘?
 TRIIRIF FiFeT
3_%-3 ]

4 o FTTT

Question Number : 28 Question Id : 903 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Global System for Mobiles uses

Options:
| % Spread Spectrum Technique
>  Narrowband TDMA

- % Broadband CDMA

4 % Broadband TDMA

Question Number : 28 Question Id : 903 Question Type: MCQ Option Shuffling : No



Correct : 1.0 Wrong: 0.0
AaEew & T seEe e frud 39 FRar 87

Options:
LY S [
1 % g FHergH cehalleh

, v #dg TDMA
., » F=ds CDMA
, » F=d= TDMA

Question Number : 29 Question Id : 904 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

What is INCORRECT regarding HTML?
Options:
; # Itisnotaword processing tool

> % Tag Semantics are fixed

- % TagSetare fixed

, It 1s a programming language
4 {",f i L= (= L

Question Number : 29 Question Id : 904 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

7 #H ¥ FI9ar 97 HTML & =BT 79 82

Options:

U Ig U& 35 JAMHT A AT &
, » o fEAfes frrm /a7

. » <o U heFw @A €
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Question Number : 30 Question Id : 905 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Web documents are written in
Options:

{ v HTML
> 8 C

3 % C+t

4 % COBOL

Question Number : 30 Question Id : 905 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

I stwgie few & A w2



Options:

. v HTML

= 8 CHF
, » COBOL

Question Number : 31 Question Id : 906 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which tag is used to hyperlink on the webpage through HTML language?

Options:

1 « <ahref>
> ® 3=

z % <link>
4 % <hlink>

Question Number : 31 Question Id : 906 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

HTML ST & 23T 39 9 TX EEWicie $led o (ol [ehd ¢l &l TareT
fopar JTaT 272

Options:
| « <ahref>

o ©w o =g>
3 ® <link>
. % <hlink>

Question Number : 32 Question Id : 907 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following functions is used to quit from an e-mail account?
Options:
 w signin

,  Signout

3 % sign up

4 % signdown

Question Number : 32 Question Id : 907 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

THT HAF3T § 927 ¥ & e T 7 Fger gaer fFar Jmar 82

Options:

1%31:"3?{3?




o » TTET 33T
o TS 3T
, w TS =3

Question Number : 33 Question Id : 908 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

.org is a domain ID which may be used for

Options:
, w Listed Companies

- w Military
2 « NGO's

4 % Educational Firms

Question Number : 33 Question Id : 908 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

.org FHF THA ID F1 vaET 7 #F ¥ TFaes e Grar smar 22

Options:

> % @Y
2 ¢ T GERIT 9T (NCO's)

4 % SregTueR ey

Question Number : 34 Question Id : 909 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following protocol provides information about messages sent via e-
mail?

Options:

, » FIP

> % TCP/IP
- % HTTP
4 « SMTP

Question Number : 34 Question Id : 909 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

&5 & ¥ FIFTT T §-739 ganT #9 IT AV & I H ATFHT
YT FT §7?

Options:

, % FTP
, % TCP/IP




. # HTTP
. v SMTP

Question Number : 35 Question Id : 910 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The most widely used commercial programming language is

Options:
; % BASIC

, % COBOL

- « FORTRAN
. % PASCAL

Question Number : 35 Question Id : 910 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

AT € T IANUST & YANT hi ST aTell FITHIT AT g |

Options:

, = BASIC

, « COBOL

z v FORTRAN
., « PASCAL

Question Number : 36 Question Id : 911 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

TCP is responsible for dividing the message into packets on source computer whereas
IP is responsible for

Options:
| % establishing connections between server and workstations

5 % providing user friendly system interface

5P handling the address of destination computer

4% allowing multiple users to communicate online

Question Number : 36 Question Id : 911 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

TCP T o W A8F H $oe # faanfom = & GFer & J=fF
P F fov SFEer ¢

Options:
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Question Number : 37 Question Id : 912 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

192.6.200.123 is a/an;
Options:
1 % Ethernet Address

5  IP Address

- » Computer Address

4 % LAN Address

Question Number : 37 Question Id : 912 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

192.6.200.123 v F |

Options:

1%%21'(??:123'@
2_1_?;.|I=>'t";,"\tr
=N - o @-‘q

Question Number : 38 Question Id : 913 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Example of telecommunication device is;

Options:

| % Keyboard
> % Mouse

5 « Modem
4 % Printer

Question Number : 38 Question Id : 913 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

oeEgieieheled T H T gL g1

Options:

1_&@@?
5 % HISH
o v HABH




4 % B

Question Number : 39 Question Id : 914 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The manual tells yvou how to use a software program.

Options:
1 ® Documentation

o % Programming
= % Technical

4 « User

Question Number : 39 Question Id : 914 Question Type: MCQ Option Shuffling : No

Correct : 1.0 Wrong: 0.0
e AiFeaTy 9eH & STAATE & §4dT § |

Options:

Question Number : 40 Question Id : 915 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Incorrect statement regarding a Router is

Options:
, w Ituseslogical address

It can handle different protocols

ra
e

- w Itcan link Ethernet to mainframe

s It uses physical address

Question Number : 40 Question Id : 915 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

= #§ ¥ U3y §FEa=T g :u9 F+T 87

Options:
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Question Number : 41 Question Id : 916 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A device that connects dissumilar networks 1s called
Options:

, w DBridge

- u Rectifier

. Gateway
ik 4 -

, » Backbone

Question Number : 41 Question Id : 916 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

AT IR F AcaF FT A I TeT Fgoar g |

Options:

1 ® fo=r

. w {FEHE
3 v Jed

, » aad

Question Number : 42 Question Id : 917 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Junk e-mail is also called
Options:

1 & Spam

5 % Spoof

5 # Spool

4% Sniffer

Question Number : 42 Question Id : 917 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ek =-HAT FT 3T ATH g |

Options:

2&35

™

3_%Fqn?'r
L w TETHRT

Question Number : 43 Question Id : 918 Question Type: MCQ Option Shuffling : No



Correct : 1.0 Wrong: 0.0

The messages which help in tracking a user's activity on a specific website are

known as
Options:
1 % Mails

- u Packets
5  Cookies

4 % Cracker

Question Number : 43 Question Id : 918 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

T Hegyr &1 fordr faferse SswEe W gy f afafafmr fr F=Edr @
g, Fgerd & |
Options:
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. % TR
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Question Number : 44 Question Id : 919 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

An e-mail attachment is
Options:

T receipt sent by a recipient

2. ¢ a separate document from another program sent along with an e-mail

3 % a malicious program

4 = alistof CCs

Question Number : 44 Question Id : 919 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
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Question Number : 45 Question Id : 920 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The NIC manufacturer assigns a unique physical address to each NIC card: this
address is known as

Options:

; % Location

5 « MAC address
- w Server Address

4 % Data Point

Question Number : 45 Question Id : 920 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

NIC 3caresr g7 NIC F1E &1 ve faforse frfaere 9ar 9eiF &ear & I8
qaT . FEOIAT g |

Options:

| w ol
., » MAC wgw
o W T
, % STET 9ise

Question Number : 46 Question Id : 921 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

A special purpose computer that can handle connection between two or more packet
switched networks is

Options:

1 « Router

> % Hub
2 # Switch

4 w Amplifier

Question Number : 46 Question Id : 921 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

T fae ARl e A o a1 o ¥ Hfew S FeT dcaw &
FAFUNT FT E50T FIAT &, TE FAT FgaTaT 27

Options:

1, v U3
> % T
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Question Number : 47 Question Id : 922 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

18 used to identify a user who returns to a website.

Options:

1 « cookies

5 % SCIIpts
s Plugin

. & ASP's

Question Number : 47 Question Id : 922 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

________ JeTEE U Al aTet ST i UgaTd i g |

Options:

g
o W e

5 % T
, % ASP

Question Number : 48 Question Id : 923 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which one out of the following, amplifies and restores signals for long distance
transmission?
Options:

| % Bridge

« Gateway
5 Repeater

4 % Router

Question Number : 48 Question Id : 923 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

FFET gt & 0T 7 e 7 ¥ Fi9 feaa &1 9999 v \I6T0r Far 872
Options:

, w ToreT
2@.3?:12?
5 v X




4 # TR

Question Number : 49 Question Id : 924 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Firewall ig uged in communication networks to save
Options:
1 + unauthorized attacks

> % yirus attack

z % fire attack
4 % data driven attack

Question Number : 49 Question Id : 924 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong : 0.0

HE Acds H BraEid ¥ F9T4T ¢
Options:

-k TE TS

5w AT & gAA

, % SIeT =ferd &Ad

Question Number : 50 Question Id : 925 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following is used to transmit data in serial form?
Options:
| « Serial Port

> % Server
o % SIM
4 # RAM

Question Number : 50 Question Id : 925 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

= § ¥ Fi9 40T §9 #F e &7 =g &7 87

Options:

| v HifTe 9
i GER

. % SIM

4 # RAM




Question Number : 51 Question Id : 926 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

What is the shortcut key to insert a new worksheet in Microsoft Excel?
Options:

% Cul+W

3z ® Ctrl+IW

4 & AlHTW

Question Number : 51 Question Id : 926 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ATSHITTFE Tadel § -I3T Thelie UIdE H & oy diche ' Far g7

Options:

, % Ctrl+W
> # Ctrl+N

z u Ctri+IW
4 v Alt+IW

Question Number : 52 Question Id : 927 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Google Chrome is a
Options:
|« Web browser

~ % Search Engine

5 % Chat Messenger

4, w» Online Media Player

Question Number : 52 Question Id : 927 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

IETST A T g

Options:

| v I W
zwﬁm
. % dT HTAN
o HTTaSa HIf2ar oy

READING COMPREHEMSION



Section Id : 74

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5.0
Sub-Section Number: 1
Sub-Section Id: 74
Question Shuffling Allowed : Yes

Question Id : 928 Question Type: COMPREHENSION Sub Question Shuffling Allowed
Question Numbers: (53t057)
Juestion Label - Comprehension

- No



Leadership has nothing to do with the title on your business card or the size of

your office. Leadership is not about how much money you make or the clothes

you wear. Leadership is a philosophy. It’s an attitude. It’s a state of mind. And
it’s available to each one of us.

Here’s an example. I spend a lot of my life on airplanes and travelling so I'm
hard on my Iuggage. The handle on my carry-on luggage broke after my tour of
Russia a few months ago (you have to put a visit to St. Petersburg on your list
of places to visit before you die). Anyway, I take the piece in to Evex, a dealer
in Toronto. The young man at the counter treated me wonderfully and within a
few days, the handle was fixed.

While in New York a week ago, the handle broke again. I assumed that I'd
have to pay for the repair when I went back into Evex. Most businesses put
clients through so many hurdles: if you haven’t saved the receipt you are out of
luck, if you don’t know who did the initial repair we cannot help you etc. etc.
Well Evex is different. They just get it. They understand that without treating
their customers well, there 18 no business.

When I explained that the handle broke again, the young woman at the counter
— without a moment of hesitation — apologized for the problem I faced. She
then said: “We will promise you that you will have your carry-on in perfect

order within 3 days. And of course Sir, there will be no charge.” No
bureaucracy around needing the receipt from the previous repair. No hassles.
No 1issues. Just great service, with a giant smile.

This woman showed leadership. She quickly diagnosed the problem, assumed
personal responsibility and made the right decision. And she wowed her
customer in the process. What will vou do to be the leader that you are destined
to be, today?”

Sub questions
Question Number : 53 Question Id : 929 Question Type: MCQ Option Shuffling : No

Correct : 1.0 Wrong: 0.0
According to the writer, Leadership is
Options:
« All about how you make money.

5 % All about how much money you make.



5 Not about making money.

4% All about the clothes you wear.

Question Number : 54 Question Id : 930 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Why does the author say that he is hard on his luggage?
Options:
| % Because he does not love to carry it all the time.

5 % Because he feels shy while carrying the luggage.

e, Because he has spent a lot of his life travelling to different places.

4% Because he doesn't like the size of his travelling bag.

Question Number : 55 Question Id : 931 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

What did the writer assume when the handle broke again?
Options:

, # The handle may not get fixed again.

> % He 1s using a poor quality bag.

_— The servicing of the bag wasn’t satisfactory at all.

P He would have to pay for the repair again.

Question Number : 56 Question Id : 932 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

According to the passage. there is no business if you can't

Options:
| « (reat the customers well.

5 % allow the customers to forget the receipts.
- x Inanage the products properly.

L% provide time to the business.

Question Number : 57 Question Id : 933 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The woman at the counter
Options:
| % told the writer to get the handle fixed somewhere else in the city.

T assumed personal responsibility and showed leadership.
- u told the writer about the exchange scheme.

4. % did not apologize for the problem.

Question Id : 928 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No



Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions
Question Number : 53 Question Id : 929 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

TEF & HTAN, HATAA (SSUAT) & Teqd F:4T 872

Options:

| % HTT FH UH FAS
. » AT forgar d@r FAE &




. o U0 FAS F TS AT FEE

L % AT HH F92 g4 &

Question Number : 54 Question Id : 930 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

qGF A T FAT FgT & T 394 HHA FI JhT FAET hFAg 87
Options:

| x FIF T T TAT FH AHT AT THG Fgl Hid

. % FAITeh 3e¢ TATT of A H 0T AT &
SIJWEF@FTEI?%‘#@ $I I FA H FHr TJF T AR &
4_@mﬁ‘%3ﬁ3¢qﬁrwm%maﬁﬂr

Question Number : 55 Question Id : 931 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

=9 g ﬁm‘ﬁggfwaﬁéu* = FIr AT Torar?
Options:

, » 3 U foee Farfordr &1 37 3uaer Y W E
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Question Number : 56 Question Id : 932 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

AT F HFAR,F1S i SR F@T T FhaT 3N

Options:

| » HTY IAER H H=OT TIgR Al Hid

L o T TER F I 9T A H AR AE
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Question Number : 57 Question Id : 933 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

FE W T I A

Options:
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OUANTITATIVE AFTITULE

Section Id : 75

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6.0
Sub-Section Number: 1
Sub-Section Id: 75
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 934 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

If y2-3y+2 is a factor of y*-ay>+b=0 then the values of a and b are
Options:
; % 54

Question Number : 58 Question Id : 934 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

g y*-ay*+b=0 & UIAES y>-3y+2 &, dr a AR b & A

Options:
; » 9,4

> w 9,74
3 v 9.4
4 % 4

Question Number : 59 Question Id : 935 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

If a and b are the roots of the equation of 2x?+2x-14=0. then a*+b* equals to

Options:

.

LR =
o & 4



i

T Al
4 % -4

Question Number : 59 Question Id : 935 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

afe FHAEIOT 2X°+2x-14=0 & HF a 3 b &, ar a’+b® F A
e |

Options:

, & 22
> » 44
5 o —22
4 % 44

Question Number : 60 Question Id : 936 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Two isosceles triangles have equal angles and their areas are in the ratio 4:9. The ratio
of their corresponding heights will be

Options:

1 % 3:2
o o 213
z x 49
4 % 94

Question Number : 60 Question Id : 936 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

ﬁmﬁgﬁﬁﬁ#ﬁwm%ﬁ?mﬂmmmmgﬁl
ST FHATYT FETSAT T 91T 3T FEM?

Options:

g 2
> o 233
- x 49
4 % 94

Question Number : 61 Question Id : 937 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The ratio of heights of two similar triangles is 3:4. The ratio of their median is

Options:

> % 9:16



3 ¢ 34
4 % 5:4

Question Number : 61 Question Id : 937 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

ar FRET RIon @ FErsat 1 dEaa 3:4 § 39 Aifzaa (Afeme) a7
AT grem |

e

Options:

1 % 4:5

> % 9:16
z v 34

4 % 94

Question Number : 62 Question Id : 938 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

How many terms of the series -6, -3. 0, ... must be taken that the sum becomes 54?
Options:
1 ® 3
2 % 9
3 v 10

4 % 11

Question Number : 62 Question Id : 938 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

SAA -6, -3, 0, ... & foha ug &1 IhT 54 &7 317

Options:
1 % 8
> %9
3 v 10
e i

Question Number : 63 Question Id : 939 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The internal angles of a polygon are in A.P. The smallest angle is 100° and the
common difference is 10°. The number of sides in the polygon is

Options:
1 ® 3

2.%39

-  Either 8 or 9



4 % Either 10 or11

Question Number : 63 Question Id : 939 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

U FgEIS & A HIOT FROIAT FAGT S0 (A.P) H &l #gadH For
100° =7 & #R @HAET HeR 10° Bl 9gefsT & og=eit T @ear  ge |

Options:
1 ® o]
- & 9
4 % 10 7T 11
GEMERAL MENTAL AEBILITY AND REASONIMNG
Section Id : 76
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6.0

Sub-Section Number: 1
Sub-Section Id: 76
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 940 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

From amongst the alternatives. pick up the pair that best illustrates the given relation:
Traffic:Road

Options:
, ® Aecroplane:Aerodrome

5 % Roots:Tree
3 o Blood:Veins

4 % Car:Garage

Question Number : 64 Question Id : 940 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

ﬁh?ﬁ%ﬁﬁﬁﬁwwmﬁmmﬁmm
T O gHE=Tar 2 | e e

Options:
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Question Number : 65 Question Id : 941 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

Complete the series by replacing the question mark
ZAJ, YBK. XCL, WDM, '?'

Options:

| & VEN

> % VEM

z ® VNO

4 % VFM

Question Number : 65 Question Id : 941 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

ToATTE &I &eT &Y AU H [ HT ZAJ, YBK, XCL, WDM, '?'

Options:

.« VEN
-« VNO

4 % VFM

Question Number : 66 Question Id : 942 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

In a joint family. Rahil is the son of Aditya. Geetika. Aditya's sister has a son
Vatsalya and a daughter Surabhi. Nanu is the maternal uncle of Vatsalya. How is
Rahil related to Vatsalya?

Options:

, % Brother

5 ® Brother-in-law

3 % Nephew

4w Cousin

Question Number : 66 Question Id : 942 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:

. o
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I
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Question Number : 67 Question Id : 943 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Find the wrong number in the series: 3. 8, 15. 24. 34. 48. 63
Options:
1 ® 15

2 # 24
4 % 48

Question Number : 67 Question Id : 943 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

3, 8, 15, 24, 34, 48, 63, .. &r g-é ofr § Fi9dT I&TT THT 82

Options:

; %15
5 u 24
= « 34
4 % 48

Question Number : 68 Question Id : 944 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

How many triangles are there in the following figure?

Options:



Question Number : 68 Question Id : 944 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

R gw o 3 frae fror #2

Options:

1. v 18
> % 16
5 % 22
4@25

Question Number : 69 Question Id : 945 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0



Interpret the given data and answer the questions given below

WORKFORCE OF COUNTRY X
Percant Distribution of Workforce Workforce in the Service Saector
by Employmeni Sector by Area and Gender
Health Care
Protective | CIMale
Management Service Bl Female
f 15% .
] Food Service
Sales Construction and
va Maintenance Personal Care
10%
Production and Other m‘——l
Transportation | | .
0 1 2 3
Tatal Worktarce: 140 millian people Milions of People

The population (1n lacs) involved mn construction and maintenance 1s

Options:

2 o 140
4 ® 70

Question Number : 69 Question Id : 945 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0
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Options:
o R 1 4
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g4 ® 70
GEMERAL AWARENESS
Section Id : 77
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6.0

Sub-Section Number: 1
Sub-Section Id: 77
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 946 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

The founder of the Lodi dynasty was

Options:



1% Ibrahim Lodi
5> R Sikander Lodi
= « Bahlol Lodi

4 ®% Mubarak Shah

Question Number : 70 Question Id : 946 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

TedT For F EUTIF FiA A2

Options:

| w SETEH FET
, » THEET T
o  Fgard ST

, » I AT

Question Number : 71 Question Id : 947 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

The concept of a Welfare State is included in the constitution of India in the
Options:

, % Preamble

_— Fundamental Rights

;- w Fourth Schedule

et Directive Principles of State Policy

Question Number : 71 Question Id : 947 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

9T & e H FoauenT s $HT a9 oM g‘é oY |

Options:

p % FEcTde "
A TR A

o W o,

|, T e A
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Question Number : 72 Question Id : 948 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

A two-day G-7 summit was held in June 2015 in
Options:



1 % London

» % DBrussels

- Bavaria

4 #% Maryland

Question Number : 72 Question Id : 948 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

S 2015 # ar feada & -7 Raw gedea sg 3mafaa & a3 ofr?
Options:

j % olgd

Question Number : 73 Question Id : 949 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Department of Atomic Energy (DAE) of India was established on

Options:

| ® 3rd August 1950

5 3rd August 1954

. 3rd August 1952
o R =

4 w 3rd August 1956

Question Number : 73 Question Id : 949 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

A FH AT F=AT {39 (Ireg) e warfya fomar srar or?

Options:

| % 3 379TET 1950
- v 3 3ETET 1954
5 % 3 3TET 1952
., % 3 3TET 1956

Question Number : 74 Question Id : 950 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which one of the following companies has started a rural marketing network called 'e-
chaupals?’

Options:



1 o ITC
5 R Dabur

5 % Proctor and Gamble

4, » Hindustan Unilever

Question Number : 74 Question Id : 950 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

F=fafEa Fafaar & 7 g-=iae aFs T oo deas s oF
T &2

Options:

| o FTEETE

> % ST

.« St UE e

F Nl —®
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4 %

Question Number : 75 Question Id : 951 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.0

Which of the following is mainly leading to the depletion of the Ozone layer?
Options:

Wt R

o R CO
z #® S0

4w CEC

Question Number : 75 Question Id : 951 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.0

ﬁﬁﬁﬁﬂﬁﬂﬁﬂ@ﬁﬁ&ﬂ?ﬁmﬁ?méﬁﬁvmﬁ?

Options:
o ® CO
=z ® SO
4 v CFC

Actual
Group Number : 2
Group Id: 31
Group Maximum Duration : 15

Group Minimum Duration : 15



Revisit allowed for view? : No

Revisit allowed for edit? : No
Break time: 0
Group Marks: 0.0

English Typing Test

Section Id : 78

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 0.0
Sub-Section Number: 1
Sub-Section Id: 78
Question Shuffling Allowed : No

Question Number : 76 Question Id : 952 Question Type: TYPING TEST

THERE were four of thern, Tony, Danny, Morbert and Alf, all in their £0's and retired. On the face of it, normal
blokes, the sort you'd easily walls by in the street. Norbert, plummp and round with Bobby Charlton broswn
comb-over hair; Alf thin and wiry like a whippet with a little Hitler rnoustache which he regularly dyed to keep
ageing at bay; Danny, sporting big Superman type glasses which he kept pushing up off his nose on a dome-
like head, a-la-Eric Morecambe and Tony, grey and dull in a John Major sort of way. Norbert used to be a
greengrocer, Danny a lorry driver, Alf a printer and Tony worked for an insurance company. Meeting once a
weel in the pub for a pint and a natter, they'd put the world to right, pontificating on politics, sport, telly etc.
They gave off the air of complete cormradeship, the Four Musketeers on a suburban night out, kitted out in
Marks and Spencer patterned sweaters and plain socks from Primark. Then last week: Alf revealed he had an
appointment the following day with his GP for the results of his tests. What tests, they asked, anxious that
something dark was threatening their usual fare of light-hearted banter. Alf said his missus was worried
because he kept forgetting things (such as her birthday and their wedding anniversary) so he had had tests for
dementia. 'Bloody hell,' said Norbert, padding down his mop like a cat preparing for a snooze. Alf tapped away
at his tash before adding: T ain't going to end up being doolally, no way, crapping me pants and talking
gibberish. If I've got dementia, will someone put me out of my misery, put a gun to my head. ' 'Of course Alf
his mates laughingly replied and joviality was restored. The next day they all got a text from Alf, short and o
the point: 'Got it Hours later he was discovered shot through the head in his shed. No gun was found. The
three men had gathered around their usual table at The Cloak and Dagger, in the corner, well away from the
family eating area and in front of the mock log fire. It was Tony's round and he also chipped in with two
packets of pork scratching plus sour cream and chive crisps for Norbert whose wife was trying to turn him
into a wvegetarian because of his high cheolesterol. 'Spocky ain't it,' said Norbert, crisps splattering over his
black Elack Sablbath t-shirt. 'Him saying he wanted to be shot in the head if he'd got it and him getting it and
him... hirm then being shot in the head.' Bloody coincidence,' said Tony, crunching away at a particularly rocky
piece of scratching. Mot really Tony,' said Danny, who spoke in a broad Elack Country accent like the
character Timothy Spall played in Auf Wiedersehen Pet. "What do vou mean?' asked Norbert, "well it were me,
weren't it,' said Danny, sitting up proud and upright in his chair, just like that time he announced he'd got a
good mark for poetry in his Open University writing course. Everybody has secrets, things they don't tell their
spouses or even their best mates. Sometimes you keep secrets for good reasons, sometimes it's just a thrill to
know sormething that others don't but whatever the reason, buried deep in your subConscious is a desire to
spill the bills, to let everyone in on your big secret. Danny could be a bit of a story spinner- the others didn't
know he copied his poern off a niece's school essay - but he swore this revelation was the truth.
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